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Pluggling proposal recelived froa

Darrel Kelso

Ta: ’7._2,7 AP1 NUMBER 15= 185-22,058-0000
STATE CORPORATION CCMMISSION
~C°HJERYAT‘ON DIYISION - PLUGGING SECTION SW NE SW , sgt., 22 , T . 22 s, R 12 w/E
20¢( COLORADO DERBY BUILDING 1650
WICHITA, KAHSAS 67202 feot from S sectlion |ine
TECHNIGIAN'S PLUGGING REPORT 3630 teet from E sectlon line
Operator License J_° 6039 Lease Nameilpers-Ukens Well { 2
Operator: L.D. Drilling Inc. County Stafford -
Nameld . 2
Address F& 1, Box 183 B Well Total Depth 3760~ |2 feat
Great. Bend, KS 67530 Conductor Plpe: Slze test
Surface Casling: S1ze8 5/8 teet _ 317
Abandeoned 01! Well X Gas Well Input Wel] SWD Well DaA
Other we!! as herelnatter Indicated
Plugging Contractor__ Kelso Casing Pulling, Tnc, License Number 6050
. P.0. Box 347, Chase, KS 67524 -~ o
A:ddr,ss — ———rr e ——re————— —er—
Company to plug at: Hour: 12:30 p.m. pay; 29 Month: 7 Year: 1993

{(company name) Kelso Casing Pulling, Inc.

(phone)} 316-938-2943

were: 55" at 3759' w/135 sx cement, Perfs ar 3695-3700°

lst plug sand back to 3650" and dump 5 sx cement on top of sand through bailer,

2nd plug pump 3 sx hulls, 10 sx gel, 50 sx cement, 10 sx gel,

1 sx hulls, release 8 5/8"

wiper plug and pump 100 sx cement.

(
\

Plugélns Oparations attended by Agentl:

Operations Completed: Hour: 1:20 p.m.pay:

Ptuggipg Proposal Roce!t‘d by

All

Richard Lacev

(TECHNIC!AN)

X Part Naone

29 Month: 7 Year:19 93

ACTUAL PLUGGING REPORT

 1st plug sanded back to 3650' and dumped 5 sx cement on top of sand

through bafler,

2nd plug pumped 300 1bs. hulls, 10 sx gel, 50 sx cement,

10 sx gel, 100 1bs. hulls, released

8 5/8" wiper plug and pumped 100 sx cement.

Maximum pressure 600 psi and shut in 150 psi.

STATE C(,@E CEIvED
LOMMisSioy -

Remarks: Used 60/40 Pozmix 6% gel by Allied.

Recovered 2568.74' of

Slucasing,

?3‘?3

l N v 0 ilc ﬁdﬁ'lonal description is necessary, use BACK of Th—TE“"!‘b'r-rh-)_.__ ‘-—":nm.

tdid / 3Xﬁ§?§?? o rve thls plugging.
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